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Use identities to simplify each expression:
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Verify each identity:
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Find the exact value by using a sum or difference identity:
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Find the exact value by using a half-angle identity.
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Use the given information to find the exact value of the trigonometric function(s).
25.Find sin( A+ B) if sin4=-5/13 and cosB =3/5, with 4 in quadrant ITI and B in quadrant 1.
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Use the given information to find the exact value of the trigonometric function(s).
26. Find cos(a+ ) if sine=15/17 and sin f =—1/3, with & in quadrant Il and § in quadrant IV.
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30. Find sina. cosa. and tana if sin(e/2)=-2/7 and 7 <o/2 <57/4.
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